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Controller

Parameter

Multiloop
N
BLT
ISE

Multiloop
IN
BLT
ISE

Top set-point changed
Top Bottom
2.3 081
2.25 1.25
2.8 1.25
5.6 14
42 3.7
145 16
4.6 10
145 3
155 215

5x109 1.8x10°

6.1

IAE

|AE

Bottom set-point changed

Top
0.95
0.95
0.95
175
1.22
3.2
2.2

9.5

45

3x100

Bottom
12
1.5
12
1.25
1.38
13
18
3
105

13x10"

Feed flow rate
Top Bottom
104 125
138 68
135 56
39 90

6.5x109  2.25x10°

Feed composition

Top

Bottom
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JL. Machette N
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4
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BLT
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5
K.v.Waller N
BLT
LV |ISE

Top set-pint changed

Top Bottom
29 21
1.2 9.5
135 6
6.4 1
20 16
1 5.8
48 5
18 8
2 22
125 28
215 50
15 34

|AE
Bottom set-point changed

Top Bottom
41 9

11 48
2.25 38

0.9 45
115 125
43 45

25 5.5

48 6.1

17 48
105 5.2

2.2 115
125 5.8

Feed flow rate
Top Bottom
30.5 46
125 4.6

25 9

12 48
0.24 0.74
0.14 0.7
0.3 175
0.128 0.72

Feed composition
Top Bottom
100 135
44 14
84 215
25 15
1.05 3.05
0.61 28
13 1.2

0.55 2.9
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2.25x106  5.6x10%
34 28
155 245
2.55 61
162 26
3.3 8.8
148 9.8
2.9 6.6
135 5.5

|IAE
Bottom set-point changed
Top Bottom
151 142
8.8x102  5.5x102)
9x103 2.6x104
8.8x105  2.25x10%6
0.045 5.2
0.041 44
0.041 12
0.046 45
0.105 42
0.086 3.35
0.092 4.6
0.046 192

Feed flow rate

Top Bottom

0.275 2.25
9.5x100  4.75x10D
3.6x102  8.2x102
6.5x108  1.25x102
0.0025 08
0.0016 0.65
0.0040 18
0.0017 0.64
0.0019 0.038
0.0006 0.0012
0.0022 0.043
0.0008 0.0010

Feed composition
Top Bottom
0.61 9.8
l.Ixioll  4.2x109
1.0xI02  2.3x102
9.8xI02  1.8xI0B
0.0018 3.3
0.0022 2.55
0.0027 1.2
0.0024 2.55
0.031 0.65
0.0105 0.215
0.036 0.73
0.0115 0.172
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Parameter Top set-pint changed  Bottom set-point changed
Top Bottom Top Bottom
LIL+D) VI ATe=1] 1 3.10 52.0 0.0092 95
Kep=1, 2=1
LAL+D),V2 Ka=1Tn=1 4.50 138.0 0.72 27.0
Ken=1t12= 1
L(LD)VIB  mci=oaTmiza 325 0.145 55 36
B°. o= ©
LB = = 18.0 118 151 11.2
K= 1, 2=1
:L/(L+D),VI LV s L/(L+D),Vz:

Feed flow rate
Top Bottom
0.0016 1.09
0.0088 3.50
0.4400 0.31
0.2200 1.0
Df |

Feed composition

Top Bottom

0.011 35

0.04 9.0

0.74 0.52

0.95 5.6
5
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55.13

0.016

4.0x10™

2.3X10-4

0.9X10-4

1.0x10"

0.134

4.9X10-4

31.2x10"

9.2x10M™

1.3x10"

0.3712

0.923 1.938

292-0x10"4 677.0X10-4
243.0x10'4 645.8x107
347.0X10-4 580.0X10-4

61.3x10" 1,105.0x10"



6.4

|AE

Multiloop

Multiloop

Multiloop

Multiloop

Multiloop

ISE

2.22
35.20

0.00
300.00
215.22
60.00
4545
21.78
653.62
83.82
353.13
14545

|AE
N
24 44
0.00
0.00
25.00
215.22
250.00
331.82
11.78
2.11
17.65
12.50
13.64

BLT
148.89
12.00
84.21
10.71
236.96
175.00
1945.45
483.33
18261
32.35
110.94
45.45

ISE
86.57
196.00
28.42

143

1.08x10"
1.80x10"
1.40x102
122.20x109
4.71x10%
3.31x09
0.00
0.00



(L)

ISE

ISE

ISE

BLT

BLT

IN

N

N

355.56
100.00
323.61
858.33
300.00
600.00
316.67
220.00
360.00
121.21
68.00
2143
61.90
1.69
71143
5.71

22.22
6.67
13.61
417
76.00
6.67
45.83
16.00
72.00
18.18
0.00
0.00
0.00
0.00
0.00
0.00

150.00
15.56
241.22
87.50
236.00
83.33
0.00
0.00
0.00
0.00
120.00
18.57
109.52
121.15
114.29
150.00

0.00
0.00
0.00
0.00
0.00
0.00
62.50
60.00
92.00
1091
20.00
21.43
19.05
11.54
8.57
2.86

6ET



5
(DV)

5
D/(L+D),V

N

N

N

N

12.13
8.93
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
119.35
14.29
9.76
87.50
56.25
23.08

0.00
0.00
3.76x102
8.8x102
5.83x1023
3.87x102
3.45x102
2.11x102
1.80x109
4.29x102
0.00
0.00
0.00
0.00
0.00
0.00

11311
157.14
7.50x105
9.12x104
5.96x105
1.83x105
1.31x105
3.63x104
1.63x104
2.25x103
64.52
148.98
0.00
20.83
150.00
176.92

9.84
3.57
6.25x107
8.24x10%
5.83x107
1.58x107
2.36x10%
5.56x108
1.61x105
1.84x104
4.52
6.12
12.20
6.25
6.25
1.54



5
D/(L+D),V/B

N

ISE

ISE

ISE

ISE

IAE {[IAE

18.18
2941
144.44
60.00
128.26
118.75
13750

3700.00

- IAE

169,57
21791
]/1AE

0.00
0.00
9.63
78.18
86.96
1448
650.00
20.00
8.70
25.00

22.73
182.35
11481
20.00
100.00
139.58
175.00

4200.00

213.04

324.42
200

9.09
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
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